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R 2 B K B A # F
— 7-2 7-4 | H16-10 | H16-11 No.3 No.3a No.3b No.5 No.5a No5Sb | H16-3 | H16-5 | H16-6 | H16-13 | H17-15 | H26-3a | H26-3b
IKEL m) | -274 -2.74 -2.74 -3.64 - - -1.85 - - -3.37 -3.29 -265 | -1588 | -2.81 -2.85 -140 | -150
ARBE(EETIm) () 1.1 118 104 104 106 1.0 110 108 106 105 105 10.6 1.9 108 106 10.1 10.2
SR ) 15 12.2 105 11.0 108 1.2 15 108 108 108 10.8 105 125 1.7 106 103 10.3
KR ) 202 184 18.6 16.3 - - 17.1 - - 217 17.7 16.8 15.6 19.4 16.7 16.1 16.3
B em | 5080k | 5081t | 50LAE | S0BLE - - 5080 E - - s0LltE | 5ok | s0BAE | 508AE 24 5014 L 29 5010 £
X pH 70 70 78 72 - - 77 - 7.1 14 74 78 72 74 72 70
A4 (mg/D) 24 06 10 1.1 - - 10 - 87 0.7 22 41 15 6.0 0.9 03
"
BiEmAAY (e 77 24 87 59 - - 28 - 14 51 45 33 460 54 25 38
BREEE (ms/m)| 130 58 100 180 - - 59 - - 140 150 110 49 46 110 95 100
BLETEL (V) 240 110 76 260 - - 91 - - 110 210 82 96 220 97 290 260
HibkE (pm) | 0.25% 26 025K | 0.2KiH 0.7 025K | 025K | 025K | 025K | 025K | 0.25K% | 0.2k 35 025K | 025K | 0.25R% | 025K
5 ZEMERR ®) 14 23 0.25%i% | 49 18 0.25%i% | 08 025K | 14 52 08 34 05 15 | 0.255Ki# | 0.255Kk% | 0.255K%
% [ 53 ®) 18 15 19 12 7 21 17 21 16 13 17 13 6K 16 20 21 21
z
A8 ®) 0 34 12 23 61 0 16 0 1 0 24 38 27 28 1 0 0
RAEHRE  min) [ 001K | 003 | 001K | 0.015K:# [ 00155 | 0.015K:# | 0.015K5 | 0.015K% | 0.015K: | 0015k | 001K | 0.14 048 | 001k | 001K | 0015k | 0015k
LES TR oM Tk B A HF
BRK [ % RAOBAAKFZORESRORER K—) Y TAOEETF 1mT
HEEE Loc.1 Loc.1a Loc.1b H16-1b | H16-15 | H26-1a | H26-1b H26-2 DiETT.
Kt (m) | -065 | -058 | -037 | -101 | -060 | -105 | -1.10 | -0.90 X HE&T-2 7-4, HI6-10, HI6-11, No.3a, No.3b, No.5a, No.5bTIZ,
RELLHREESERETRELE L TVET, NEBZORILKRRE
KR c) 16.1 155 155 15.3 15.1 16.1 16.6 15.2 100 FLFNH0. 2ppmkiE T L=,
7, BELTVIREARORIER REETSHOT—2TT,
BIRE m) | 508l | 508k 27 17 5014 & 36 M 27 5014 &
X RSB TKRUBRADKEDEESKRELIET H1-0, BHET
pH 73 74 72 6.6 6.8 72 73 6.7 78 Bl TRERFKEBARELTLET, (Loc. 1a, Loc. bIFFL
K VEENSATERELTOET, )
HRERAA (mg/1) 31 <02 04 <0.2 24 02 35 0.2 34
=1
Bl Ay men | 170 130 130 15 53 31 160 80 89
BREEE (ms/m) | 88 91 68 42 72 46 68 62 150
BILETERL (V) 370 330 360 280 370 250 290 270 300
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